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General Instructions :

()

(11)
(iii)
(iv)

O

(vi)

(vit)

The question paper comprises two Sections, A and B. You are to attempt both the
sections.

All questions are compulsory.
There is no choice in any of the questions.

All questions of Section A and all questions of Section B are to be attempted
separately.

Question numbers 1 to 3 in Section A are one-mark questions. These are to be
answered in one word or in one sentence.

Question numbers 4 to 6 in Section A are two-marks questions. These are to be
answered in about 30 words each.

Question numbers 7 to 18 in Section A are three-marks questions. These are to be
answered in about 50 words each.

(viii) Question numbers 19 to 24 in Section A are five-marks questions. These are to be

answered tn about 70 words each.

(ix) Question numbers 25 to 33 in Section B are multiple choice questions based on
practical skills. Each question is a one-mark question. You are to select one most
appropriate response out of the four provided to you.

(x) Question numbers 34 to 36 in Section B are two-marks questions based on practical
skills. These are to be answered in brief.
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HIT - A

Section - A

1. 9/ T (ST T9) 991 CNG (HHifed wehfas ) o & o 9 sufeyq €2 1
TR Y] 4 faf@u |

Which gas is present in Bio-gas and CNG ? Write its molecular formula.

2.  wHIfgs Yaeda g W M 9 ©F e’ &1 W fafgu) 1

Name two plants that are grown by vegetative propagation.

3. = <t W SRR HEen § Uy & hl 2000 J FSN USH A § | S B HE 1
Y foradl w1t 9 gRft 2

TIeY — T8 — T - TS

In the following food chain, plants provide 2000 J of energy to rats. How much

energy will be available to hawks from snakes ?

Plants —» Rats —» Snakes —» Hawks

4. FHAA YU HT BrRd QI fhadl Bl €27 STEdd A 3Aa q4Ul H § fREawr 2
THI-81 ATy a1 82 <O o 3H U7 KT SUANT Hel TRAT ST € 2

What is the focal length of a plane mirror ? Which mirror has larger field of

view - concave or convex ? Where is this property of the mirror used ?
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5. ‘9 fafawar’ &1 o1 faf@w) f SR a9 Sfiad & SR § e o WXET0 6
Th-Teh o fafau
State the meaning of “biodiversity”. List one advantages each of conserving
forests and wild-life.

6. 3T fIeIeRtviy oTufTel gR1 Sl =R wHensti & g AR

List four problems caused by non-biodegradable wastes.

7 (a)
(b)
(a)
(b)

531/3

gIESIhTaHl o1 T i T 3 BH et 3cd1el o AW fafee | 3oy e 3

et 19 w1 wet e ger fowan St 8?7 Hew # oawen sife |

frafafea =1 eren Tus Jife fafau -
@ CyHg
() C.Hg

Name the products obtained on complete combustion of hydrocarbons ?
How is the gas evolved during combustion tested in the laboratory ?
Explain in brief.

Write the next higher homologue of :

@® CgHg

(i) CsHg
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8. TUIATA i Wifeaw o1q ¥ ATYThan gRI fove arelt 19 @1 99 fafew | woHta
Y 79 TAF fF YR I 3d €2 T SR i g & fau qumfes aee
ST 38 sifufran § o7 1 YA &1 Ieoi@ it |

Name the gas liberated when ethanol reacts with Sodium metal ? How do we

get ethene from ethanol ? Write chemical equation to justify your answer.
State the role of acid in this reaction.

9. (a) STYME fad IRUft # Tl & R0 & foIq H] goA9E ol o § 3
THIY] H&A & AT Iad Y 9 S €, 946 2

(b) 3T 3Ed ARl H

G ofEd | e AR W SR 3R WM W,

() I8 H IW H = SH W qll & ifcash &0 fohd g giafdd g

g
I I & e swror e

(a) Atomic number is considered to be a more appropriate parameter than

atomic mass for classification of elements in modern periodic table.
Why ?

(b) How does metallic character of elements vary on moving from :
(@) left to right in a period, and
(1)) from top to bottom in a group in the modern periodic table

Give reasons for your answers.
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10. ¥R T@ P, Q, R 3iR S &1 TA] §&A1 A 12, 13, 14 3R 15 1 &R0 dfga 3
9 fer T el & I ST

() QI HASThdl 1 7 ?

(i) T Tl T FAIRIO UG SR TG H i |

(i) 3TH ¥ I G q@ Gdiieeh R TS S ?

Four elements P, Q, R, S have atomic number 12, 13, 14 and 15 respectively.

Answer the following questions giving reasons :
(1) What is the valency of Q ?
(1) Classify these elements as metals and non-metals.

(111) Which of these elements will form the most basic oxide ?

11. S99 #1887 STIfieh S99 &1 ol § ek S99 o <1 ATl i SATedl &g | 3

What is reproduction ? Explain two advantages of sexual reproduction over

asexual reproduction.

12. () SE A @Ued F1T? TH Rl sgaime sie &1 99 fafae s g fafy 3
SR S Sl g

(b) TR (TASiA) fFE TR B 82 a8 gfran Tt siqgefl § Hug w41
T T2

(a) What is fragmentation in organisms ? Name a multicellular organism

which reproduces by this method.
(b) How does regeneration take place ? Why is this process not possible in

all animals ?
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13.

14.

15.

@ 7= qft Gva S §, <9 et (femieat) wgema (TaH) & 7ed
T g 81 3HeRT RO SN |

(b) IRt & €9 § Y1) 3R 1ve (fer) & g <1 fadeTerit atefon =t gt
ERIE

(a) Fertilization i1s possible if ovulation has taken place during middle of

menstrual cycle. Give reasons.

(b) List in tabular form two distinguishing features between a sperm and an
ovum.

T TS o IQ9A o T STERA T T{E FRA| hl 3@ DT AR I7h]
T o ouiF of wifsu|

State and describe in brief any three main factors responsible for the rise of

new species.

fordt Mefa | 9 45 em T R Teoyd Himerd 61 ST 1 o9 g Yfdfors 9
¥ 90 cm T Foord 0€ W o9 §1 &9 & YRR Hl TEAIY IR ITH! Rlhd
I HIfST | afe sarel & FTE 2 cm €, O 39 Yfafar w1 FEE @ RIS

The image of a candle flame placed at a distance of 45 cm from a spherical
lens is formed on a screen placed at a distance of 90 cm from the lens. Identify
the type of lens and calculate its focal length. If the height of the flame is
2 cm, find the height of its image.
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16. =< feu 7w <1 fashedi § 4 & AT =21 © : 3

() o9 % S I deAEl AU FFAA S H ThHA RN 3T

(i) STT-GUEU NI a9 & Sl 1 HHSal o ®9 H GI&T AT |
9 gN T4 Y fosheq o =N o4l i g SR |

Which of the two is a better option :

(1) To collect rainwater in ponds or artificial lake or

(1) To let it recharge groundwater by water harvesting ? List four advantages
of the option chosen to justify your answer.

17. (a) HEa 93 % 39 90 61 T fafEe st 9g aun e fowell < gt 9 a3

FHIhT HT H TRl Hid B 9% HE i LA HITT |

b) fFd =Afe =1 ada d9 & =T H1 STAN FH B GAR < T g1 T8
o fore e S 4§ difeq €2

(¢ TMa 93 § Raeht & & &1 Sl HiTd |

(a) Name the part of human eye that helps to focus near and distant objects

in quick succession. Explain its functioning.

(b) A person is advised to wear spectacles with concave lenses. What type of
defect of vision is he suffering from ?

(c) State the function of iris in human eye.
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18. Toret foran 3 o109 T &1 & ¢ fommerd § afgen feamn | we, < fod femmerm 3
S o TN 39 ok A foramera S 9 #9161 fedn| Al St g R0 I8 S
R IG A A Tl T Igwt ke & g fomnefl, suwt =ww w1 wm g g8
F R, 37 foen R 9 X §1 1y 3@ famneff & gewiet €, iR ofuw @%
3T=B] I &, 3R 3 9% off =9=d § & o7 fommea =1 7 S8

(2) N frdt & g0 Tt o1 off STl TmeSl & T 9 YRl fifaws (=)
g2 w2

(b) T I AL SATH & 1eqan Ui ? T W a1 gfie wifsr

(© fgsg d TH ¥eAW 9 8, 39% fau faene™ & =1 & =9ey 2

A father got his son admitted to a new school. However, after attending the

school for two days the boy refused to go to school. Upon enquiry he told his
mother that few students of his class tease and harass him for his dark skin
colour. You being one of his classmates are fond of him and do not want him
to leave the school.

(a) Isit ethical to call someone based on his skin colour ? Why ?
(b) Isit an inherited or an acquired trait ? Justify your answer.

(¢ What should the school do to avoid such incidents in future ?

19. TESIFHEA 1§ 7 Tehdl &l TewAl 4 fadeq FifSe qen 37 iR TeweAl & 5
o9 U% FI, Th-Teh e od 8T faded wifSul o1 39l &1 gfte & fog
39 S 3ereer feu € S yde &1 " ot Eifgu

What are hydrocarbons ? Distinguish alkanes from alkenes and each of them

from alkynes giving one example of each. Also draw the structures of each
compound cited as example to justify your answer.
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20. (a) ARG FME? F fFT YR o0 § 2 SHawdl wt og fuifa w0 &5
fafe=i =1 darg § goiA wifSw)
(b) foerta ey @isq § Sfemedl i < gfaersti 1 ge=i s R

(a) What are fossils ? How are fossils formed ? Describe in brief, two methods

of determining the age of fossils.

(b) List any two roles of fossils in tracing evolutionary relationships.

21.

(a) feu ww 3@ H A, B, C 3R D &l Yg=ifu IR 37 W fafay
(b) WA fHd Fed €27 TS e 1 AT HifeC |

© T H = % " hl ARA R I T o IH W &1 3cT@ hIfIg,

SIREEEEE ISR

G) e H foefaa e €

() a § fasfad g 2
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(a)
(b)
(©

22. (a)

(b)

©
(a)

(b)

©

531/3

Downl oaded

Identify A, B, C and D in the given diagram and write their names.

What is pollination ? Explain its significance.

Explain the process of fertilisation in flowers. Name the parts of the flower
that develop after fertilisation into :

(1 seed,
(1) fruit.

JehTST hT YehIU & § 7 TehiTUid TehT9T o 01 (L7) qAT YT hil Tehifold

T dd HUN b WS & o9 9oy fafeu |

o o Al

T=H & g8 ¥ fry M 9l fr=fafaa 3aol & SR &1 Seor@ I

() AT HIel Ydid BT ; () TEEIY H & T

From: http://cbseportal.com

AR % AT P v Yedd g &1 H 2

What is scattering of light ? State the relationship between the colour of

the scattered light and the size of the particles causing scattering.

State the reason for the following observations as recorded from of the
moon :

(1) sky appears dark; (1) rainbow is never formed

The sun appears white at noon from the earth’s surface. Why ?
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23. (a) 9 A9 & AW fafgu S ST eds d9 S ® U H fFm ST sar g1 5
foama &t fhg feafa & fau #5390 o9 e fou ¢ demn & giafas s
g

G fo= & Tum oS &1 adfas 3R Seer gfdfar ?

(i) ot 3R drenm wfafers ?

TIH TR § AT IR hl Ife & fag oo sma gifaw)

(b) fHE ST AH & Y 9 H F FOS G oF e T R aw e
forear =1 q gfdforal sAM@M 2 A9 IW i g & fore foror s Eifam

(@) Name the lens which can be used as a magnifying glass. For which

position of the object a convex lens form :

(1) areal and inverted image of the same size as that of the object ?

(1) a virtual and erect image ?

Draw ray diagram to justify your answer in each case.

(b) One half of a convex lens is covered with a black paper. Will this lens
produce a complete image of the object ? Draw ray diagram to justify your
answer.

531/3 13 P.T.O.
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24. 4 cm T 1 H1E T 20 cm Tohal 521 o forelt STat €01 & WA 20 em g0 0
R e 1 SHU-TF 1 ITAR ik o4 ATt Fidfora o feafd, gefa iR aEs
I I | SWiE feafa (W) & faw g foeeor s oft wifew iR 33
R gd, A IR Thdl hg SAfhd hHifaT |

An object 4 cm in length is placed at a distance of 20 cm in front of a convex

mirror of radius of curvature 20 cm. Use mirror formula to find the position,
nature and size of the image. Also draw a ray diagram for the above situation
and mark the positions of pole, focus and centre of curvature on it.

AT -

Section - B

25. S & Tordlt U I, AHien § fg@ued o1 9 | qpod 1 980 & & fag 1
wEe & T BEl g T 39 d&v A= i T E

() IR HIe ¥ IR g faume foas fan
(i) oTHen H qpall ot g@en femE <
(iii) THIEA 3R A= F Toa RIEHRT | A fgEved AR qHad 31 @I a1l

(iv) STHIaT ¥ Trefihd hseh @ Hafd shgehl | fauifeid &1 @1 o |

3"‘3 TET J&I0T €

(@ @9 W (b) (1) 9 ()

() ()9 (v) @ @9 Gv)
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Slides of binary fission in Amoeba and budding in yeast were given for

observation to a group of students. Some of the observations reported by the
group are given below :

(1) Cytokinesis was observed in the yeast cell.
(1) A chain of buds were observed in Amoeba.

(1) Single cell of Amoeba and single cell of yeast were undergoing binary
fission and budding respectively.

(iv) Elongated nucleus was dividing to form two daughter nuclei in Amoeba.
The correctly reported observations are :

(@ (1) and (i1) () (1) and (ii1)

(¢ (i11) and (iv) (d () and (@iv)

e | o o faw ¥ we A

() % HE & fodl v &F ¥ FE P WA |

(i) ST IR S Hafa wifsemen | famfsa 2t ®, 3R 927 S 1 i
AT B ST ©

(i) S HF W FAT TH 9 9 D8 TP 34 qpdd 9 Fhdl T |

o N

(iv) S HTE H HAT Bd 9T Yool U1 ToIhfyd Bt =11 T&asl Sitel o Sl

gl
(@ @, )9 @)
®)  (Gi), (i) T @Qv)
(© (@), @) 9 @)
d @Gv), @) 9 @G
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Select the correct statements for the process of budding in yeast :

(1) A bud arises from a particular region on a parent body.

(1) A parent cell divides into two daughter cells, here the parent identity is
lost.

(111) Before detaching from the parent body a bud may form another bud.
(iv) A bud when detaches from the parent body grows into a new individual.
(@ (@), (1) and (i11)

(b) (i1), (i11) and (iv)

() (1), v) and (1)

(d) (@{v), () and (i1)

27. Jeqd <YV i Hihd U Fuid *d 97 o9 v g frel g fam &1
yfafers 7€ W RIhfad HH F TIE HG &1 IS W o1 o gfafa, fow
& el 91 g ey ?

(a) e SR 9gd Bl (b) T AR TS
© Hi eIk T @ ST iR wgd Bl

While determining the focal length of a concave mirror, you try to focus the

image of a distant object formed by the mirror on the screen. The image formed
on the screen, as compared to the object, should be :

(a) erect and highly diminished (b) inverted and enlarged

(¢) erect and enlarged (d) 1inverted and highly diminished

531/3 16
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28, fodt B 7 fordl Sy g8 &1 e, 3o gfafas 39a o9 & f® W o | 1

T fohal | 59 T9ETd 3HA U i gel foa iR R of| 9§ 8 gu fama w1 faum
4 g 1 Y99 fRma1| oFe o8 9 Q&I T ?

(a) YIRS i SR T gee gfdfo |

(b) " W &I HT Gyl Giafor |

haN o o NS

© i gfafae 72, ifer wei g1 foan mn 2

d) H % HHT W g&T Hl el Ffafa |

A student obtained a sharp inverted image of a distant tree on the screen

placed behind a convex lens. He then removed the screen and tried to look
through the lens in the direction of the object. He would now observe :

(a) a blurred image on the wall of the laboratory

(b) an erect image of the tree on the lens

(c) noimage as the screen has been removed

(d) an inverted image of the tree at the focus of the lens

531/3 17 P.T.O.
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29, HId & FABR Ta ¥ oA aTell FehT fhI0r &1 79 RFEd wid T80 foneh

BE A M Yaqur e U SR aifcieeg fo -

%Y G 0i Or Oe
I 60° 40° 61°
II 50° 36° 51°
111 40° 26° 40°
v 30° 20° 31°
'FI%QI ‘j&TUT % :

(@) (@) R D)

(b) (I SR (111
(¢ (I R 1V)
@ (@, A1) 3R @V)

While tracing the path of a ray of light passing through a rectangular glass

slab, a student tabulated his observations as given below :

Sl.No. (i Or (e
I 60° 40° 61°
II 50° 36° 51°
II1 40° 26° 40°
IV 30° 20° 31°
The correct observations are :
(@) () and (II)
(b) II) and (III)
(c) (II) and (IV)
(d) (), dII) and (IV)
531/3 18
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30. A o TUSH 9 oA arell ThRT fhor 1 99 SIRMEd &id 999 B 4 3T

&I 39 ThR KA 6T :

() 919 9 i H A THA JYH AT & W AT ok IgEd Tohrel Tohtor
Afve s ¥ T S B

() fed@ sT9ad® I8 W Yol fhe0 919 @ Hig § Ja9 Hdl ¢

i) 7oA | oA R YW1 S IR STUGfdd BT § IR Yieh oTqad" | 9% SR
FI AR FhaT T

(v) T8 § ToRd 99 YT <1 IR STUafdd el ¢ | 9¥H STuadd § I8 Afyers
Y R gadl ¢, Sareh fgdd Tuad § 98 e &1 iR gehdl 2|

& Ye10 T R

(@) had (i) 9 (id) (b) e (iii)

© hId (i) T (iv) ) HIA @) 9 (iv)

During the experiment, to trace the path of ray of light through the glass

prism, students reported the following observations :

(1) The ray of light from air to glass at the first refracting surface bends away
from the normal after refraction.

(1) At the second refracting surface, light rays entered from air to glass.

(1) Light ray suffers two refractions on passing through a prism and in each
refraction it bends towards the base of the prism.

(iv) Light ray suffers two refractions on passing through a prism. In first
refraction it bends away from the normal while in the second refraction
it bends towards the normal.

The correct observation(s) is/are :

(@) (1) and (i1) only (b) (111) only

(¢) (1) and (iv) only (d) (@) and (iv) only

531/3 19 P.T.O.
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31. &% SH IR WE@A P, Q, R 3R S, 7&& § 6 mL 3Gd 91 oIdl ©, 39
Iy 98 IR fafie Saul &t 99H 7, S wWEHd P U Sifeay FTARES, Q)
T qrefyem wiNEe, ‘R § Sicqad wiNEe 991 S’ § IRy wiNEe sed 2|
S UETd 98 Yo WEe] H Hgd % faerad i 10 98 Siefeht ITeh! FHil
H1 el oo §1 )RR A o faer Al weAdmEAtadt 7

(@) PaQ

(b) hHad P

¢ RdES

(d) HeAQ

A student takes about 6 mL of distilled water in each of the four test tubes

P, Q, R and S, then dissolves in equal amount four different salts namely
sodium chloride in ‘P’, Potassium Chloride in ‘Q’, Calcium Chloride in ‘R’ and
magnesium chloride in ‘S’. He then adds 10 drop of soap solution to each test
tube and shakes its contents. The test tube(s) in which he would observe a
good amount of lather is :

(@) PandQ

(b) Only P

(¢ RandS

(d) OnlyQ

531/3 20

Downl oaded From : http://cbseportal.conl Courtesy : CBSE


http://cbseportal.com/
http://cbseportal.com/

Downl oaded From : http://cbseportal.conl

32. & B UHifew ot A1 U 9T Ted ot forewd v W SN iR Aol fremg v 1
W T §, d 1 eI R § 2

(a) o feeqg 99 TEA & S §, an fen foemq ot Hien & ®a ® 1

(b) e faeg 93 e & S ®, 9o Hien faeng 93 ften g wWar g

© o foema 99 o & War &, an e foeud 13 ae & S g

) A foema 99 em € S ®, 9o Tien foens o3 o € S § )

What is observed when we pour a drop of acetic acid first on red and then on

blue litmus papers ?

(@) Red litmus paper becomes colourless and blue litmus paper remains blue.

(b) Red litmus paper turns blue and blue litmus paper remains blue.

() Red litmus paper remains red and blue litmus paper turns red.

(d) Red litmus paper turns blue and blue litmus paper turns red.
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33. Tt woam & fore T aen 39% TSi9 H Hor wd Suoed e €, 9 fomerm !
1 g § e T e F o6 3uersy |

Ne N

) 9HileIn wIRES;

N

(1) Tfeaw Tethe;

(I1) HfeaTq FINEE;

AV) Hfcaaq Tehe;

(V) dRREH w=AnEs;

(VD) BIfm aethe

= fau 7T 31 v ok GHE | 9 98 §Hg g ST I&e dul, S i HSR

S o foT, STH S S Hehdr § 1
@ @, dn, v) by @, dID), (V)
(© dID, IV), (VD) @ D, Av), (VD)

Hard water is not available for an experiment in the school and its vicinity.

However, some salts as given below are available in the school laboratory.
(I) Sodium Chloride

(II) Sodium Sulphate

(ITI) Calcium Chloride

(IV) Calcium Sulphate

(V) Potassium Chloride

(VI) Magnesium Sulphate

Select from the following a group of these salts, each member of which may be
dissolved in water to make it hard.

(@) @), dD, (V) (b) @), AL, (V)
(© (), @V), (VI) (d) D, @v), (v
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34.

35.

36.
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3T, Yiahal, He-TaM iR UIe® § ¥ & o 3 99€d (3TI89) HEAW §
3R i ?

Out of potato, sweet potato, pea tendril and spinach, which two are analogous

structures and why ?

6 cm T hTg Torel fRdT 3Ta o1 o J&A 3181 W feod 81 o9 & TR g
@ﬁmﬁ@wcm%,HWW&&WWW%W@T@@SOcm
R RIANLT AT R AT I FI QA IC, @ T’ N
AN e gidfera 9 & o fag 9¢ @1 form foon # (9 &t IR o1uan o g
¥ R & 3IR) WM M2 Yfdfora w1 eraea fohg gwR genfad g2

A 6 cm tall object is placed on the principal axis of a convex lens. The distance
of the object from the optical centre of the lens is 15 cm and its sharp image is
formed at a distance of 30 cm from it on a screen placed on the other side of
the lens. If the object is now moved a little away from the lens, in which
direction (towards the lens or away from the lens) will he have to move the
screen to get a sharp image of the object on it again ? How will the
magnification of the image be affected ?

tHifesw o & W@ Q@ ofifass qoremt 3R vt o w5 gt SR
TSTeRT TeTor g B fIemed 1 TRl § R Uohdl © 1

List two physical and two chemical properties of acetic acid which a student

can test in the school laboratory.
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